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Shade in the area containing each solution.

1. 5x +2(x +4) = 64 2.9(y-2)+4=3

4.6(n~-5)-1ln=0 5.20 =8 +3(12 +

7.9y — 4(y +5) =40 8.10 - 3(m - 2) =
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1 3.7 + 4(2a +15) = -13

4x) 6. —2(w - 7) + 10w = 34

8 9. 16d - (4 — 5d) = —67

=72 4 11) =19
10. 7(6x —1) + x = 36 11. 11 —2(8 +3p) =7 12. 4(5b +11)

13.
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_ a(_10t — 3) + 6t 15. —2(9 +2x) =40
2(4m - 18) =12 14. 75 = 3(-10t — 3) 3
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16. Write an equation and  3x -2 er, Same G B cgg?rgymm are ) |
solve for x if the area and the rest carry 6 pas than 4-passenger .~ |
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